
 

                                                                          Distribution of 𝑿̅ 

 

             𝝈 𝒌𝒏𝒐𝒘𝒏                                                                                                      𝝈 𝒖𝒏𝒌𝒏𝒐𝒘𝒏 (Use S instead) 

 

Result (2)                                                   result (3)                                                                             result (4) 

If population normal                          *Use Central limit theorem*                                         If population normal  

                                                                 If population non-normal                                              n small (n < 30) 

                                                                        n large (n ≥ 30)  

 

                                                                                                                                                             𝑿̅ ~ 𝒕 (𝒏 − 𝟏 ) 

 𝑿̅ ~ 𝑵𝒐𝒓𝒎𝒂𝒍 (𝝁,
𝝈𝟐

𝒏
 )                                                                𝒅𝒇 = 𝒏 − 𝟏  𝒘𝒉𝒆𝒓𝒆  𝒅𝒇: 𝒅𝒆𝒈𝒓𝒆𝒆 𝒐𝒇 𝒇𝒓𝒆𝒆𝒅𝒐𝒎 

 

(Z   لاستخدام جدول(  Z   إلى  𝑿̅  للحل : تحويل                                                              (T  لاستخدام جدول(   T   إلى  𝑿̅  للحل : تحويل      

                      𝒁 =
 𝑿̅− 𝝁

𝝈 /√𝒏
                                                                                           𝑻 =

 𝑿̅− 𝝁

𝑺 /√𝒏
 


